[image: image2.png]




2
RDMOTO CZECH REPUBLIC



info@rdmoto.cz



www.rdmoto.cz


Y40
Yamaha MT-03 2015-
	Kit for the left side
	Kit for the right side

	
	
	
	
	
	
	
	
	
	

	ID.
	Description
	Cat.No
	Pcs
	
	ID.
	Description
	Cat.No
	Pcs
	

	1
	Steel insert M10
	X1
	1
	
	1
	Steel insert M10
	X1
	1
	

	2
	Bolt M10x125x1,25mm
	924
	1
	
	2
	Bolt M10x125x1,25mm
	924
	1
	

	3
	Dural. cylinder d=48mm
	1203
	1
	
	3
	Dural. cylinder d=48mm
	1203
	1
	

	
	
	
	
	
	
	
	
	


Installation:
1. Remove original bolts according to the picture below.

2. Put steel insert (ID1) on bolt M10 (ID2).

3. Using bolt M10 (ID2) and steel insert (ID1) fit protector on the frame of motorcycle. Don’t forget to place dural cylinder under porotector.
Warning – we recommend to use safety glue on threads of all bolts (moderate strong – blue colour).
[image: image1.png]



1

